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Noge :— Solve any FIVE questions.

1. Explagh the-following terms :

[

Alffiospheric noise.
Solar noise.
Cosmic noise.
indusirial noise.
Shot noise.
Flicker noise.
Thermal notse.
Transit time noise.
Partition noise.
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A parallel RLC circuit centred at 3 GHz has a bandwidth of
10 MHz. If the resistor R is 10 k), calculate R(f) and the
power spectral density Gu{f) of the noisy circuit. 10
Calculate the noise bandwidth of

(1)  a pacallel RLC circuit having a 3 dB bandwidth B.

(1) an RC low pass filter having 2 3 dB bandwidth i
5.3

A camier signal is
Si(t} =Acos2m £t

I (Contd.)
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modulation.

What are carrier freyuency requirements ol a radio

transmitter 7 5
Explaimn the working of a radio transmitter using low power
level modulation aystem. 7
Explain the workung of a harmonic generator, o
What are salient foatures of a broadcust radio receiver ¢ 4
Live thelMygacteristios of an jdeal veceiving amlenna, 4
LxplaiNAYC in radio receiver, i

iSdfnclioning, {5

Lirdie ciscuit of a sin iple noise fimiler circuit and describe
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